1. KONTROLNA NALOGA

2. D, skupina B

1. Izracunaj:

(a) (=3a7%y*) 2 (—2a%y %)

(b) {/(—2)f =

(c) (=2)*=

(d) 0,00172 =

(&) =5 40,2571+ (=%) "-2571 =

: PR L1 1 s V105
2. Racionaliziraj imenovalce: ; 75 o8 M s

3. Izpostavi skupni faktor in poenostavi izraz: 6"t —2-6" +4-6""! =!

4. Poenostavi izraze:
(a) Va2c-vVacd =
(b) Wz =

(c) \/5@\3/25a- \?/ 5a2 =
(d) 23 -45 +813 — 0,012 =

/15

/8

/3

/12

Kriterij: 16 — 20,5 2d(2), 21 — 25,5 db(3), 26 — 31 pd(4), 31,5 — 35 odl(5)
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2. Racionaliziraj imenovalce: \/g

D, skupina A

2 in 74,_\/5‘
’ 3—4/5 7—5"

3. Izpostavi skupni faktor in poenostavi izraz: 10"

4. Poenostavi izraze:
(a) v
(b)
() \
()

— 310" 4+2.10"2 =

/15

/8

/3
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Kriterij: 16 — 20,5 zd(2), 21

— 25,5 db(3), 26 — 31 pd(4), 31,5 — 35 odi(5)



